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1. ITepedyenb MiIaHMPyeMBbIX Pe3yJIbTATOB 00y4YeHHs MO TUCHHUILINHE, COOTHECEHHBIX C
IJIAHUPYEMBbIMH Pe3y/JIbTaTaAMHU OCBOCHHS IIPOTrPaMMBbl

1.1. Tuctimuimna dynnamentanbHas dkoHOMUKa (Ecopnomics) oOecrnieunBaeT OBIaJCHUE CIEAYIONTUMU
KOMITETCHITMSIMH C yY4ETOM JTara:

Kon HaumenoBanune Kon HaumenoBaHue 3Tama
KOMITETE KOMITETCHIIUH JTana OCBOEHUSI KOMITETCHIIUH
HIHH OCBOCHH
s
KOMIIeTe
HIMA
[1K-5 cnocobHOocTh K mpodeccuonanmpHomy | [IK-5.1 | cmocoOHOCT  HAXoAWTh U
COCTaBJICHHIO, ohopmeHHIO u dopmynupoBarh  Hamboiee
PEIAKTUPOBAHUIO  HAYYHO-TEXHHUYECKON BAXHbIE W aKTyaJbHbIC
TOKyMEHTAIlMM,  HAy4YHBIX  OTYETOB, npoOJIeMbl TIPUMEHUTETBHO K
0030pOB, OKJIQJOB U CTAThEH, MPOEKTOB HAyYHO-UCCIIEIOBATEIbCKIM
Hay4YHO-HCCIIEIOBATEIbCKUX Pa3paboToK, pa3paboTkam
BJAJ€ET CIIOCOOHOCTBIO K  aHAIU3Y
MOJIUTHYECKUX U IMOJUTOIOTUYECKUX
TEKCTOB,  BJAJEHHE TPUEMaMU  HX
MHTEPIIPETAIIMU U KPUTUKU

1.2. B pe3ynbTaTe OCBOCHHS JUCHUIUIMHBI Y CTYJICHTOB TOJIKHBI OBITH COPMHUPOBAHBI:
OTD/TD Koz srana PesynpraThl 00yueHus
(mpu Hanmuuu npodcerangapra)/ OCBOCHUS
npodeccuoHaIbHbIE TEHCTBUS KOMIIETEHINH
npodeccuoHanibHoe  coctasienue, | [TK-5.1 3HaHUe TPHEMOB aHalM3a TMOJTUTHYECKUX

oopmieHre U peAaKTHPOBaHUE
Hay4YHO-TEXHUYECKON
NTOKYMEHTAIlM{, HAY4YHBIX OTYETOB,
0030pOB, JOKJIAQJIOB U CTaTbEw,
[TPOEKTOB Hay4HO-
MCCIIEIOBATENIbCKUX — pa3paboToK,
aHaJIN3 MOJINTUYECKUX "
[TOJINTOJIOTUYECKUX TEKCTOB, HX
MHTEPIIpETALNS " KpUTHKA
AHanu3z uH@OpMALMM U
[TOArOTOBKA UH(POPMALMOHHO-
QHAIMTUYECKUX MaTEpUaJIOB.

N IMOJIUTOJOTHYCCKHX TCKCTOB,

Ymenue OPHUEHTUPOBATHCS B
npoOieMaTuke MTOJINTUYECKUX
HCCIIEIOBAHMIA;

Bnagenne HaBbIKaMH — CHUCTEMATH3ALAU

JAaHHBIX IIPU IMOMOIIKW MCETOAOB, NPUHATBIX
B COBpeMeHHOﬁ IIOJIMTOJIOTHH; TTIOAIOTOBKHU
HAY4YHBIX TCKCTOB JJI BBICTYIVICHUA Ha
HaYYHbIX MCPOIIPUATUAX.

2. O0beM U MecTO TUCHHUILINHBI B cTpykType OIl BO

O0neM TUCHUILIMHBI

O0bem nuctmrumnsbl: 72/54 —2 3ET
KonrakrHas padora: 16/12




Jlexuuu 8/6
JlaGopaTopHbIie paboThI
[MpakTrueckue 3anstus 8/6

CamocrosrenbHas pabora 56/42

MecTto nucnumimabl B crpykrype OI1 BO

HaUMEHOBaHHE TUCIUIUTMHBL: DyHnaMeHTanbHas skoHomuKa (Ecopnomics)

Kypc(bl), ceMecTp(bl) WIM TPUMECTP(bl) €€ OCBOEHHUS B COOTBETCTBMM C Y4eOHBbIM miaHoMm: 1 kypc, 1

cemMecTp

JUCHUIIIINHA SABJIACTCA OCHOBOI1 JJIs1 U3Yy4YECHUS .

Poccus u monutuka MexayHaponaHbix opranusanuii  (Russia and the Politics of International
Organizations)
VYnpasnenue rocynapcrsenHsiMu ¢purancamu (Public Finance Management)

(dhopMa(bl) IPOMEKYTOUHOM ATTECTAIIMHA B COOTBETCTBUH C YICOHBIM IIAHOM: 3a4eT

3. Conepixanue u CTPYKTYpPa AUCHMIIUHBI

Ounasn chopma odyuenusn

Ne i/ HaumeHoBaHue TeM O0beM TMCUUIJIMHBI (MOYJIS), Yac. ®opma
(paszesion), Bcero KonrakTHas pa6ora cp TeKyluero
00yvyarommxcs ¢ KORTpOI
Y m ycrneBaeMocTH**,
npenoaaBare1eM TPOMEKYTOUHOM
1O BUJIAM YUeOHbIX 3aHATHI aTTecTamun*
J/30, JIP/ 30, m3/30, | KC
JIOT* JOT* JIOT* P
Tema 1 o, T
Tewma 2 o, T
Tema 3 0o, T
Tema 4 o, T
Tema 5 0, T
Tema 6 0, T
Tema 7 0, T
Tewma 8 0o, T
[TpomexxyTouHas arTecTaius 3aver
Bcero:

*[Ipumeuanue — onpoc (O), mecmuposanue (T);

Conep:xanue TUCHUIIMHBI




Tema 1. PRINCIPLES
OF ECONOMICS

Introduction to economic thinking. Main questions of economics. Opportunity cost.
Production possibility frontier. Economic principles. Applications: Absolute and
comparative advantages

Tema 2. DEMAND,

The law of demand. The law of supply. Market equilibrium. Predicting changes in price

SUPPLY AND | and quantity. Elasticities of demand and supply. Types of goods.

EQUILIBRIUM

Tema 3. | Methods of organizing economic activity (market, command economy, majority
EFFICIENCY AND | voting). Benefit, cost and welfare. Efficiency and justice. Government actions in
GOVERNMENT markets. Consumer surplus and producer surplus. Tax incidence

INTERVENTION

Tema 4. | Firm’s output decision. The law of diminishing returns. Average and marginal returns.

PRODUCTION AND
COST

Cost curves and their properties.

Tema 5. PERFECTLY

Competitive market equilibrium in short-run and long-run. Competition and efficiency

COMPETITIVE

MARKETS

Tema 6. IMPERFECT | Marginal revenue. Model of monopoly. Deadweight loss of monopoly. Price
COMPETITION discrimination. Strategic interaction and oligopoly. Introduction to Game Theory

Tema 7. GDP AND | Introduction to macroeconomics. GDP measurement. Circular-flow model of the
INFLATION economy. Real and nominal GDP. Price indices and inflation.

Tema 8.  LABOR | Labor market indicators. Employment and unemployment. Income distribution and
MARKETS. income redistribution

UNEMPLOYMENT

4. MartepuaJibl TeKyLIero KOHTPOJIsI ycIIeBaeMOCTH 00y4YaloIuxcsi U
(oH O1IEHOYHBIX CPEICTB MPOMEKYTOYHOI aTTeCTALMHU 10 JMCHHUIIJIMHE

(I)OprI H METOAbI TEKYHIEro KOHTPOJIAA YCI€Ba€MOCTH, oﬁyqamumxca H l'lpOMG)KyTO‘IHOfI arTTeCTallui.

4.1.1. B xoz1e peaau3anuy JMCHUIIMHBI MCHOJIB3YIOTCS CJIeYIOIIHe METOAbI TeKyIero KOHTPOJIst
ycrneBaeMoCTH 00y4aroIInXCcs:

IIpu npoBeneHNN 3aHATHI JEKLIMOHHOTO THUIIA: OIIPOC, TECTUPOBAHMUE;
IIPY NPOBEJICHUH 3aHATHI CEMUHAPCKOT0 THIA: OIPOC, TECTUPOBAHMUE;

4.1.2. Jx3amMeH (3a4eT) NPOBOAUTCH C IPUMEHEHUEM CJIeYIOIUX MeTOA0B (CPeaCTB):

3ayeT B BUJE TECTA U ITMCHbMEHHON YacTHU

MarepuaJbl TeKyILIero KOHTPOJISI YCIIeBAeMOCTH 00y4a0IIHXCH.

Tunosblie OlleHOYHbIE MaTepHUAJIbI 10 Teme 1

Problem (Opportunity costs)

Peter is an economic consultant and has a job contract with a flexible time schedule. If he prefers, he can work
every day. However, he can also take a leave every day. Peter does not enjoy the process of his job. His




satisfaction from taking a leave for one day corresponds to the value of 5000 rubles. Peter’s friend suggests
going for a day trip to St Petersburg. Peter would be willing to pay up to 15000 rubles for an opportunity to
spend a day in St Petersburg. Should Peter go for this trip if a round trip train ticket costs 6500 rubles and his
daily salary is equal to

(a) 10000 rubles,

(b) 13500 rubles,

(c) 20000 rubles.

Problem (Production possibility frontier, gains from trade)
(a) Jane’s Island’s production possibilities are given in the following table. Draw a graph of the production
possibility possibilities frontier on Jane’s Island. What are Jane’s opportunity costs of producing corn
and cloth at each output in the table?

corn (kg per month) | cloth (m per month)
3 0
2 2
1 4
0 6

(b) Joe’s Island’s production possibilities are given in the following table. What are Joe’s opportunity costs
of producing corn and cloth at each output in the table?

corn (kg per month) | cloth (i per month)
6 0
4 1
2 2
0 3
(c) Does any of the islands have absolute and/or comparative advantages in the production of corn and

cloth?
Tl/ll'lOBble OIICHOYHbLIC MaTep]/Ia.]'ll)I I10 TEME 2

Problem (Demand and Supply)
Consider the following scenarios of possible changes in demand and/or supply and show in a demand-and-
supply diagram the corresponding changes on the market.
(@) What is the predicted effect on the market for crude oil (changes in price and quantity) if the costs of oil
extraction increase due to a reduction of oil reserves?
(b) What is the predicted effect on the market for cars with a high level of fuel consumption if the costs of
oil extraction increase due to a reduction of oil reserves?
(c) What is the predicted effect on the market for air traffic if many consumers no longer fly due to their
fear of safety deficiencies in air traffic?
(d) What is the predicted effect on the market for long-distance train rides if many consumers no longer fly
due to their fear of safety deficiencies in air traffic?
(e) What is the predicted effect on the market for duty-free cigarettes if many consumers no longer fly due
to their fear of safety deficiencies in air traffic?

Problem (Equilibrium and Price Regulations)

The demand for ice cream is given by P = 400 - 2Qp, where P indicates the price and Qp, the quantity of ice
cream demanded. The supply for ice cream is givenby P = 100 + Qg, where Qg indicates the quantity of ice
cream supplied.




(a) Draw the demand curve and the supply curve in the same diagram. Indicate the point of intersection of
demand and supply. Explain its economic meaning.

(b) Suppose that the government sets a minimum price of 300 in order to support the ice cream industry. If
this price prevails in the market, determine the quantity of ice cream demanded and the quantity of ice
cream supplied. What is the quantity exchanged in the market at this price? Show which market
participants are no longer able to buy or sell the good.

Problem (Elasticity)
The table below gives the demand schedule for coffee.
(a) What is the price elasticity of demand when the price of coffee rises from 1000 rubles to 2000 rubles per
kg? Is the demand elastic or inelastic?
(b) The revenue is calculated as the product of price and quantity. What happens to the total revenue when
the price of coffee rises from 1000 rubles to 2000 rubles per kg?
(c) What is the price elasticity of demand when the price of coffee rises from 1500 rubles to 2500 rubles per
kg? Is the demand elastic or inelastic? What happens to the total revenue in this case?
(d) What is the price when total revenue is at its maximum?
(e) What quantity of coffee will be sold at the price that maximizes the revenue? What is the price elasticity
of demand at this price? (Hint: Consider a change in price and quantity such that the revenue-
maximizing price is the average price during this price change.)

price (rubles per kg) | quantity demanded
1000 30
1500 25
2000 20
2500 15

TunoBblie OLIEHOYHbIE MarTrepHuaJbl IO TEME 3

Problem (Wage regulation on the labor market)

The table below gives the demand schedule and the supply schedule for university graduates on the labor

market. The quantities demanded and supplied are given in hours per day.

wage rate (rubles per hour) | quantity demanded | quantity supplied
600 90(
700
800
a0
L00C

)
)
)
)

(a) What is the equilibrium wage and the equilibrium quantity of employment? What is the number of hours
of labor unemployed?

(b) If a minimum wage is set at 700 rubles an hour, how many hours do university graduates work? What is
the number of hours of labor unemployed?

(c) If a minimum wage is set at 900 rubles an hour, what are the number of hours of labor employed and the
number of hours of labor unemployed?

(d) Suppose that demand increases by 500 hours per day. If the minimum wage is 900 rubles an hour, what
is the wage rate paid to university graduates and how many hours of their labor are unemployed?



Problem (Consumer Surplus, Producer Surplus and Deadweight Loss)
In the table below, demand and supply schedules for grape juice are given.
price (rubles per bottle) | quantity demanded | quantity supplied
0 s0( 0
50 7Ol 100
100 60( 200

)

)

)
150 500 300
200 400 400
250 300 500
300 200 600
350 100 700
400 0 800

(a) What is the maximum price that consumers are willing to pay for the 200th bottle?
(b) What is the minimum price that producers are willing to accept for the 200th bottle?
(c) Are 200 bottles less than or greater than the efficient quantity?

(d) What is the consumer surplus if the efficient quantity of grape juice is produced?

(e) What is the producer surplus if the efficient quantity of grape juice is produced?

(F) What is the deadweight loss if 200 bottles of grape juice are produced?

TumnoBbie OLIEHOYHbIE MarTrepHuaJbl IO TEME 4

Problem (Total factor variation)
The table below shows the production function of Mario’s Pizza-to-Go. Mario must pay $100 a day for each
oven he rents and $75 a day for each kitchen hand he hires. Labor is measured in workers per day and output, in
pizzas produced per day.

(a) Find and graph the average total cost curve for each plant size.

(b) Draw Mario’s long-run average cost curve.

(c) Over what output range does Mario experience economies of scale?

(d) Explain how Mario can use his long-run average cost curve to decide how many ovens to rent.

labor | output plant 1 | output plant 2 | output plant 3 | output plant 4
1 1 8 11 13
2 8 12 15 17
3 11 15 18 20
1 13 17 20 22
OVens 1 2 3 4

Problem (Product and cost curves. Partial factor variation)

Consider Lindt’s product schedule for “Gold Bunny” chocolate rabbits. Labor L is measured in workers’ hours
per day and the quantity Q (total product), in chocolate rabbits produced per day. The daily wage rate w (price
of labor per day) at Lindt’s factory in Kilchberg is 50 Swiss francs per day, and total fixed costs associated with
chocolate rabbits’ production are SFr 100 per day.

(a) Calculate total cost TC, total variable cost TV C, and total fixed cost TFC for each level of output Q and
draw the short-run total cost curves in a diagram with output quantities on the horizontal axis and cost
values on the vertical axis.

(b) Calculate average total cost ATC, average fixed cost AFC, average variable cost AVC and marginal cost




MC at each level of output and draw the short-run average and marginal cost curves in a separate
diagram.

(c) Suppose that the wage rate increases to SFr 120 per day. Explain what changes occur to the short-run
average and marginal cost curves. Indicate these changes graphically.

(d) Suppose that Lindt buys a second plant and now the total product of each quantity of labor doubles. The
total fixed cost of operating each plant is SFr 100 a day. The wage rate is SFr 50 a day as originally.
1) Set out the average total cost curve when Lindt operates two plants in the graph from (b).
i) Draw the long-run average cost curve in the same graph.
iii) Over what output ranges is it efficient to operate one plant and two plants?

=

QITC | TVC | TFC | ATC | AFC | AVC | MC
0
12
24
48
84
121
192
240
276
300
312

D00 =] O OT b WD b =D

[
—

TumoBblie OIECHOYHbIE MATEPHAJIBI 110 TEMe 5

Problem (Perfectly competitive firm)
”Vera Coffee” is one of many coffee shops in the town. It is a price taker with costs of
production shown in the table below.

output @ (cups of coffee) | total cost TC (rubles) | MC | AVC | ATC
0 50
300

[—

1040
1240

2 450
3 560
4 690
5 855
6
[

(a) Calculate the marginal cost schedule of the coffee shop.

(b) If coffee sells for 190 rubles a cup, what is the profit-maximizing output of the firm?

(c) What is the shutdown point of the coffee shop?

(d) Over what price range will Vera Coffee leave the industry in the long run? Over what price will other
firms with the same cost structure enter the industry?

(e) What is the price of coffee in the long run if all existing and potential competitors have the same cost
structure?



TunoBblie OlleHOYHbIE MATEPHAJIBI IO TeMe 6

Problem (Single-price monopoly)
Dolly’s Diamond Mines produces industrial diamonds and is a single-price monopoly. The tables below show
the demand schedule for industrial diamonds faced by this firm and the firm’s total cost schedule.

price ($ per kg) | quantity demanded (kg per day) | TR | MR
3200 0
3000 1
2800 2
2600 3
2400 4
2200 5
2000 6
1800 T
1600 8
1400 9
1200 10
quantity produced (kg per day) | total cost (3 per kg) | MC

1 5600

2 6200

3 6600

4 7200

5 8000

6 9000

7 10000

5 11600

0 13200

10 15000

(a) Calculate the firm’s total revenue and marginal revenue.

(b) What are the firm’s profit-maximizing quantity and profit-maximizing price? Represent this decision of
the monopolist graphically.

(c) Calculate the economic profit of the monopolist. What is the consumer surplus?

(d) Does Dolly’s Mines use resources efficiently? Why or why not?

Problem (Duopoly and Collusion)
Two firms, ”Faster” and ”Quicker”, are the only two producers of sports cars on an island that has no contact
with the outside world. The firms collude and agree to share the market equally. If neither firm cheats on the
agreement, each firm makes $3 million economic profit. If either firm cheats, the cheater can increase its
economic profit to $4.5 million, while the firm that abides by the agreement incurs an economic loss of $1
million. If both firms cheat, there is a fierce competition such that both firms just break even. Both firms make
their decisions simultaneously, and neither firm has any way of predicting or monitoring the actions of the
other.
(a) Represent this strategic situation as a game. What is the set of players? What is the set of strategies
available to each player?
(b) What are the possible outcomes in this game and the corresponding payoffs? Represent the payoff
matrix of this game.
(c) Describe the best strategy for each firm in a game that is played just once. Do players have dominant




strategies?
(d) What is the Nash equilibrium in this game if it is played just once?
(e) What is the Pareto efficient outcome? Is the Nash equilibrium of this game Pareto efficient?
(f) Does Adam Smith’s “invisible hand theorem” hold here? Why or why not?

TunoBblie OlleHOYHbIE MATEPHAJIBLI IO Teme 7

Problem (GDP measurement)
The following table represents the macroeconomic transactions in a country that were performed last year.

transaction dollars
GDP 1,400,000
consumption expenditure 700,000
taxes 350,000
transfer payments 150,000
profits 300,000
investment 350,000
exports 400,000
savings 400,000
imports 350,000

Calculate
() the aggregate expenditure,
(b) the net exports,
(c) the government expenditure.

Problem (Inflation)

The people on Coral Island buy only juice and cloth. The CPI basket contains the quantities bought in 2013. The
average household spent $60 on juice and $30 on cloth in 2013 when the price of juice was $2 a bottle and the
price of cloth was $5 a running meter. In 2014, juice is $4 a bottle and cloth is $6 a running meter.

(@) Determine the CPI basket. Calculate the CPI in 2013 and the percentage of the household’s budget spent
on juice in 2013.
(b) Calculate the CPI and the inflation rate in 2014.

TunoBbIe OLIECHOYHbIE MaTepuaJbl MO TEME 8

Problem (Unemployment)

Read the following news story from the ”Business Week” that was published on the 24th of June 2008.
Michigan now holds a dubious record: It leads the U.S. in joblessness. The state’s unemployment rate
was 8.5% in May while the U.S. unemployment rate was only 5.5%. The reason is clear: Detroit’s
emphasis on big trucks and sport-utility vehicles has turned sour. But even though the official
unemployment numbers look awful, the reality is worse. The official number does not reflect those
who have given up looking for a job.

In 2010, at 13.6 percent of the state’s labor force, Michigan had the nation’s highest official unemployment rate.



But in 2012, Michigan’s unemployment rate fell to 9 percent, a larger fall than that in the United States as a
whole. Around 11,000 businesses in Michigan produce high-tech scientific instruments and components for
defense equipment, energy plants, and medical equipment.

() Why was the reality of the unemployment problem in Michigan actually worse than the 8.5 percent
unemployment rate statistic in 20087

(b) Was this higher unemployment rate in Michigan frictional, structural, or cyclical? Explain.

(c) What factor led to the favorable 2012 employment results in Michigan compared to the U.S. average?
Was this a frictional, structural or cyclical factor? Explain.

Problem (Unemployment)
Read the “Economics in the News” section on pp. 568-569 in Ch. 22 of Parkin’s “Economics” including the
Economic Analysis. Answer the following questions.

(a) How many jobs must be created each month to keep pace with a growing population?

(b) What normally happens to the unemployment rate when the pace of job creation exceeds the growth of
population?

(c) Why might the unemployment rate sometimes increase, when the pace of job creation exceeds the
growth of population?

(d) How would you expect the labor force participation rate to respond to job creation in excess of
population growth?

(e) How would you expect the increase in real GDP to affect jobs and unemployment?

TumnoBbie OLlEHOYHbIE MarTrepHuaJbl IO TEME 9

Problem (The loanable funds market)
In 2010, a household had disposable income of Euro 80,000, wealth of Euro 140,000, and an expected future
income of Euro 80,000 a year. At a real interest rate of 4% a year, the family saves Euro 15,000 a year; at a real
interest rate of 6% a year, the family saves Euro 20,000 a year; and at a real interest rate of 8% a year, they save
Euro 25,000 a year.
(a) Draw a graph of the household’s supply of loanable funds.
(b) Suppose that in 2011 the stock market crashes and the default risk increases. Explain how this increase
in default risk influences the household’s supply of loanable funds. Indicate this change graphically.
(c) Indicate graphically the effect of a decrease in the supply of loanable funds and an even larger decrease
in the demand for loanable funds on the real interest rate and the equilibrium quantity.

TumnoBblie OLIEHOYHbIE MarTrepHuaJbl IO TEME 10

Problem (Government in the loanable funds market. Fiscal policy)

The table below shows an economy’s demand and supply for loanable funds schedules, when the government
budget is balanced, i.e. when the tax revenue exactly equals the sum of government expenditure and transfers.
The real interest rates are expressed in % per year and the quantities of loanable funds, in billions of Euro.




real interest rate | loanable funds demanded | loanable funds supplied
4 850 550

5 800 600

6 750 650

7 700 700

8 650 750

9 600 800

10 550 850

() Determine the real interest rate, the quantity of investment, and the quantity of private saving if the
government budget is balanced. Indicate this equilibrium solution graphically.

(b) Suppose that the government has now a budget surplus of Euro 100 billion. Determine the real interest
rate, the quantity of investment, and the quantity of private saving. Is there any crowding out of private
saving by the government saving?

(c) Suppose that the government has now a budget deficit of Euro 100 billion. Determine the real interest
rate, the quantity of investment, and the quantity of private saving. Is there any crowding out in this
situation?

(d) Suppose that the government still has a budget deficit of Euro 100 billion, and the Ricardo-Barro effect
occurs, i.e. rational taxpayers respond to this budget deficit by increasing their private saving in order to
finance the budget deficit. Determine the real interest rate, the quantity of investment, and the quantity
of private saving. Is there any crowding out in this situation?

4.3. OueHo4yHble CpeACTBA 1Jisl IPOMEKYTOYHOM aTTecTaluMm.

4.3.1. ®opMupyeMble KOMIETEHIIUH

Kon HaunmenoBanune Kon sTamma ocBoenus HaumenoBanue 3Tama
KOMIICTCHIINH KOMIICTCHITUU KOMIICTCHITUU OCBOCHHS KOMIICTCHIIUH
IIK-5 CrocoOHOCTB K | IIK-5.1 Cnocoben HCIO0JIb30BaTh

npodeccuoHaIbHOMY SKOHOMUYECKUE 3HAHUS IS
COCTAaBJICHUIO, IMOHUMAaHUS u OILIEHKH
0(OpMIIEHUIO u MPOLIECCOB B SKOHOMHUYECKOM
PEeIaKTUPOBaAHUIO chepe xu3HUM OOIIECTBa Ha
HAYYHO-TEXHUYECKON pa3IMYHBIX YPOBHSIX.
JIOKyMEHTAITIH,

HAY4HBIX OTYETOB,

0030pOB, MOKIAI0B U

crareu, MPOEKTOB

HAy4HO-

HCCIICOBATEIbLCKUX

pa3paboTOK

4.3.2 TunoBblie OLECHOYHBIE CPEACTBA

PART I: MULTIPLE CHOICE QUESTIONS. (2 points per question, up to 40 points overall)

In Part I, there are 20 questions. For each question, there is exactly one true answer option. Please choose the true options
and indicate them clearly in the empty fields on the right-hand side of the page.



Ice cream (millions of gallons per year)

0 | 2 3 4 5 6
Milk (millions of gallons per year)

1) The figure above shows the production possibilities frontier for a country. A combination of 4 million
gallons of milk and 4 million gallons of ice cream is
A) unattainable and production efficient.
B) unattainable.
C) attainable and production efficient.
D) attainable and production inefficient.
E) More information is needed to determine if the point is attainable or not.

Wine (thousands of bottles per year)

0 3 6 9 12 15
Rice (tons per year)
2) The above figure shows the production possibility frontier for a country. Suppose the country is producing
at point B. What is the opportunity cost of increasing the production of rice to 12 tons?
A) 9 thousand bottles of wine
B) 6 thousand bottles of wine
C) 12 tons of rice
D) 15 thousand bottles of wine
E) Nothing, the opportunity cost is zero.

Fish (thousands of pounds per year)

250 F--eeeeveenees ............. . ............. . ............. AAAAAAAAAAAAA ‘ AAAAAAAAA

501 : ........... Freth PPF% .........

0 100 200 300 400 500
Wheat (thousands of bushels per year)

1) _B

2) _B



3) The figure above shows the production possibilities frontiers for the United Kingdom and France. Whatis 3) B
the opportunity cost of one bushel of wheat for the United Kingdom?
A) 200 pounds of fish
B) 1 pound of fish
C) 2 pounds of fish
D) 1/4 of a pound of fish
E) 1/2 of a pound of fish

4) The figure above shows the production possibilities frontiers for the United Kingdom and France. If the 4) C

United Kingdom and France specialize and engage in trade, the United Kingdom will export
and France will export

A) wheat; wheat
B) nothing; nothing
C) fish; wheat

D) fish; fish

E) wheat; fish

5) In a recession, consumers have less income to spend. As a result, if dining out is a normal good, then 5) D
which of the following would happen to the demand curve for dining out?
A) The demand curve would shift rightward.
B) The demand curve would not shift but the price of dining out would rise.
C) The effect on the demand curve is unknown.
D) The demand curve would shift leftward.
E) The demand curve would not shift but the price of dining out would fall.

6) Oil refiners can refine a barrel of petroleum so that it yields either more home heating oil or more diesel 6) A
fuel. If the price of diesel fuel falls, there is

A) an increase in the supply of home heating oil.

B) an increase in the demand for home heating oil.

C) a decrease in the supply of home heating oil.

D) a decrease in the quantity of home heating oil supplied.
E) an increase in the quantity of home heating oil supplied.

Salads (per hour)
40 4

35
30 @
25 1A

20 -

0 10 15 20 25

30 35 40
Smoothies (per hour)
7) The figure above shows Liz's and Joe's production possibilities for Salads and Smoothies. 7 _B

Using the figure, suppose with no trade Liz and Joe each produce at point A on their respective PPFs.
Then, Liz suggests that they specialize and trade. She would produces only smoothies and Joe would

produce only salads. Then she would sell 10 smoothies to Joe at a price of 2.5 salads per smoothie. In this
scenario,



A) Liz gains 5 smoothies, and Joe gains 10 smoothies.

B) Liz gains 10 smoothies and 5 salads, and Joe gains 5 smoothies.
C) Liz gains 5 smoothies and 5 salads, and Joe loses 5 salads.

D) Liz gains 10 smoothies, and Joe loses 5 smoothies.

E) Neither of the individuals gains from trade.

Price Quantity demanded Quantity supplied
(dollars per gallon) (gallons of gasoline) (gallons of gasoline)

3.7 337,982 441,074

3.68 396,398 428,008

3.65 412,031 412,031

3.6 417,899 391,665

8) The table above shows the situation in the gasoline market in Tulsa, Oklahoma. If the price of a gallon of
gasoline is $3.62, then

A) there is a surplus of gasoline in Tulsa.
B) there is a shortage of gasoline in Tulsa.
C) the gasoline market in Tulsa is in equilibrium.

D) Without more information we cannot determine if there is a surplus, a shortage, or an equilibrium in
the gasoline market in Tulsa.

E) There is neither a surplus nor a shortage, but the market is NOT in equilibrium.

9) The demand for oranges increases while the supply decreases. The equilibrium price of oranges

and the equilibrium quantity .
A) falls; perhaps changes but we can't say if it increases, decreases, or stays the same
B) rises; decreases
C) falls; increases

D) rises; perhaps changes but we can't say if it increases, decreases, or stays the same
E) does not change; perhaps changes but we can't say if it increases, decreases, or stays the same

10) The technology associated with manufacturing computers has advanced enormously. This change has led
to the price of a computer and the quantity .
A) falling; increasing
B) falling; not changing
C) rising; increasing
D) falling; decreasing
E) rising; decreasing

8)

9)

10)

_B

D

A



Price (dollars per HD TV) Price (dollars per HD TV)

YR\

D, D,
D, D,
Quantity (TVs per month) Quantity (TVs per month)
Figure A Figure B
Price (dollars per HD TV) Price (dollars per HD TV)
Sy S»

l S, l S

D D
Quantity (TVs per month) Quantity (TVs per month)
Figure C Figure D
11) The above figures show the market for HD televisions. If cable television providers lower the price of 11)
providing HD cable service, which figure shows the effect of this change?
A) Figure A
B) Figure B
C) Figure C
D) Figure D
E) None of the figures represent this change.
Price Quantity demanded
(dollars per skirt) (skirts per year)
20 30
35 25
12) Using the data in the table above, when the price of a skirt rises from $20 to $35, what is the price 12)
elasticity of demand? (Use the midpoint method.)
A) 0.33 B) 3.00 C) 1.00 D) 1.33 E) 0.25
13) If a 10 percent increase in income leads to a 5 percent decrease in the demand for a good, the income 13)
elasticity of demand equals and the good is good.
A) -5; an inferior
B) 2; a normal

C) -1/2; an inferior
D) -2; a normal
E) 1/2; a normal

14) Which of the following is true?

i. The supply of a good is inelastic if when its price changes, the percentage change in the quantity
supplied exceeds the percentage change in price.

ii. Price elasticity of supply equals the percentage change in the quantity supplied divided by the
percentage change in price.

iii. If demand is price elastic, a rise in price leads to a decrease in total revenue.
A) only i B) only ii C) only iii D) iandii E) ii and iii

14)

A

A

_C__

_E_



Price (dollars per pizza)

10

15
Quantity (thousands of pizzas per day)

20

15) The figure above shows the market for pizza. If pizza production is restricted to 5,000 pizzas a day, the

deadweight loss is
A) $22,500 per day.
B) $45,000 per day.
C) $25,000 per day.
D) $12,500 per day.
E) zero.

Price (dollars per DVD)
5. . . .

Pric

i

i

ceiling

T

0 100 200 300 400 500 6

T

00

T

70

Quantity (thousands of DVDs)

16) The above figure shows the market for DVDs. The government decides that all citizens deserve to watch

affordable DVDs so a price ceiling of $12 per DVD is placed on DVDs. After this price ceiling is in effect,

deadweight loss equals

A) $800,000 B) $1,800,000

C) $400,000 D) $200,000
Quantity of Labor (workers) 0]1)12|3[4]|5]6
Total Product (units per hour) 0]2]5|9|15[18]|17

E) $1,600,000

17) The table above shows the total product schedule for The X Firm. Decreasing marginal returns occur with

the worker because .
A) 6th; output starts to decline

B) 5th; the marginal product of labor for the 5th worker is less than the marginal product of the 4th

worker

15)

16)

17)

_C__

A

_B__



C) 4th; output reaches is maximum
D) 5th; the average product of labor is also declining
E) 6th; the marginal product of labor is greater than the average product of labor

18) As we observe the cost curves graph, we see that the 18) _ B
A) ATC curve always has a negative slope.
B) MC curve intersects the AVC curve and ATC curve at their minimums.
C) MC curve intersects the ATC curve at its maximum.
D) MC constantly falls as output increases.
E) MC curve cannot be U-shaped.

Revenue and cost (dollars per unit)

Output (units per day)

19) The above figure shows a perfectly competitive firm. If the market price is more than $20 per unit, the 19) D
firm

A) will definitely shut down to minimize its losses.

B) will stay open to produce and will make zero economic profit.

C) will stay open to produce and will incur an economic loss.

D) will stay open to produce and will make an economic profit.

E) might shut down but more information is needed about the fixed cost.

20) To maximize its profit, a single-price monopoly produces the amount of output so that its marginal 200 D
revenue

A) is less than its marginal cost.

B) exceeds its marginal cost but not necessarily by as much as possible.
C) equals zero.

D) equals its marginal cost.
E) exceeds its marginal cost by as much as possible.



PART Il. PROBLEMS.
PROBLEM lI-1. (30 points)

The demand and supply schedules for blueberry muffins are given in the following table.

Price Quantity Quantity

(rubles per demanded supplied
muffin) (millions per day)
10 8 0
15 7 1
20 6 2
25 5 3
30 4 4
35 3 5
40 2 6
45 1 7
50 0 8

a) Sketch the demand and the supply curves below. Determine the equilibrium quantity and the
equilibrium price. (8 points)

b) Calculate the consumer surplus, the producer surplus and the total surplus in this market
equilibrium. (8 points)

CS = 0.5*(50 - 30)*4 = 40
PS = 0.5*(30-10)*4 = 40
TS=40+40=80

€) Suppose that government introduces a unit tax on buyers of 20 rubles a muffin. What will be
the new price paid by the buyers and the new price received by the sellers? (8 points)

Q=2

Ps=20

Ps =40

d) How is the total tax burden distributed between the sellers and the buyers? Explain how this
distribution of the tax burden is related to the elasticities. (6 points)

Each side pays "2 of the total tax burden. The distribution of the tax burden between sellers and
buyers is determined by the elasticities of demand and supply. Since the price elasticity of
demand is -1.5 and the price elasticity of supply is 1.5 at the market equilibrium, the tax burden is
distributed equally between buyers and sellers.



PROBLEM 11-2. (30 points)

Price (dollars per unit)

10 20 30 40 50 60
Quantity (units per week)



Consider the demand and supply curves for a consumption good in the graph above.

a) Explain which curve shows the marginal benefits and which curve shows the marginal cost.
Is the marginal cost increasing or decreasing and why? (5 points)

The downward-sloping demand curve shows the marginal benefits. The upward-sloping supply
curve shows the marginal cost. The marginal cost is increasing with more production. This is
because the supply curve corresponds to the part of the marginal cost curve that lies above the
average cost and is upward-sloping. The economic reason is that, typically, the firm exploits
gains from division of labor and specialization and produces quantities such that additional
production can only occur with more than proportionate usage of production factors that become
scarce and thus more costly.

b) Explain which curve shows the marginal willingness to pay of the consumers. How does it
change with more consumption and why? (5 points)

The willingness to pay of the consumers is represented by the demand curve. The vertical level of
each point on this curve indicates the additional benefit and thus the maximum willingness to pay
for an additional unit of the good. Since consumers’ marginal benefit decreases with more
consumption, they are not willing to pay as much as for the first units of the good. Therefore, the
marginal willingness to pay for the good is decreasing.

€) What are the equilibrium quantity and the equilibrium price in this market without
government intervention? Is this outcome (Pareto) efficient? Why or why not? (5 points)

Without government intervention, the equilibrium quantity is 30 and the equilibrium price is 3.
This outcome is Pareto efficient as it is an outcome of a perfectly competitive market. By the 1st
theorem of welfare economics (invisible hand), every perfectly competitive market equilibrium is
Pareto efficient since it is impossible to attain a higher level of social welfare (sum of producer
and consumer surplus).

d) Describe how this outcome will change if the government introduces a maximum price of 2
dollars. What will be the quantity sold and bought? What is the efficiency loss of the society?
(5 points)

With a maximum price of 2, the quantity demanded is 40 and the quantity supplied is 20. Thus,
there is an excess demand of 20. The quantity sold is determined by the supply side and amounts
to 20. The deadweight loss is 0.5*(4-2)*(30-20)=10.

e) Now assume that the government introduces a quota of 10 units per week. What are the
possible market prices in this situation? What is the efficiency loss of the society? (5 points)

With a quota of 10, the maximum willingness to pay of the buyers is 5 whereas the lowest
acceptable price for the producers is 1. The deadweight loss is 0.5*(5-1)*(30-10)=40.

IIxana oneHNBaHNUA.

Iloka3zarean Kpurepun
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4.4 MeTtoanieckue peKOMeHAalUU

Students’ knowledge is assessed by testing method. A test is an assessment intended to measure
a test-taker's knowledge and skill. Test combines two forms: written form and multiple choice
form. Student is expected to solve 80 percent of the test in order to get highest mark. All the
grades for the test are presented in the table above.

5. Metoauyeckue ykazanus AJsi 00y4al0MIMXCs M0 OCBOEHU IO TUCHMILINHBI (MOTYJIsA)
3anarua no aucumimuHe «Introduction to Economics» mpencTaBieHbl CIETyIOIMIUMU
BUIaMHU pa6OTI>II JICKOMOHHBIC U IMTPAKTUYCCKHUE 3aHATHA, CAMOCTOATCIIbHAA pa60Ta CTYACHTOB.

Ha nexuusx CTyaeHTBl 3HAKOMSTCS C HOBBIM MarepHalioM, 3aJai0T BOMPOCHI, BEAYT
KOHCIICKT JICKIIUU. Ha MPAKTHYCCKUX 3aHATHUAX CTYACHTHI BBIMIOJIHAIOT 3adaHUWsA, CBA3AHHBIC C
00CYXKIEHHEM OT/IETbHBIX BOIIPOCOB.

CamocrositenbHass ~ paboTa  MPOBOAUTCS ~ BO  BHEAYJAUTOpHOE  BpeMst  0e3
HEMOCPEJCTBEHHOTO y4YacTUsi TMpernojaBaTens (MMOATOTOBKA K MPAKTHYECKUM 3aHSATHUSIM,
n3ydeHue y4eOHOro MaTepuaia, OTHECEHHOTO K CaMOCTOATEIbHOMY OCBOCHUIO, BBIMOJHEHUE
JIOMAIITHETO 3a/IaHus, MOATOTOBKA JOKJIAJ0B, MOArOTOBKA K MPOMEXKYTOYHOM arTecTaruu). Bo
BpEMsI CaMOCTOSITEJIbHOM paboOThl CTYAEHTHl HUCHOJB3YIOT MaTepHalibl JIEKIHM, Hay4HO-
METOJMYECKYI0 JIUTEepaTypy, MEpPBOMCTOUYHUKH, COBPEMEHHYIO HAy4YHYIO JIUTEparypy,
NIEPUOIUYECKYI0  JINTEparypy, Marepuansl, coaepxkammecs B cetu  «HTEepHETY.
CamocTosaTenpHyI0 paboTy BO BHEAYIUTOPHOE BpeMs CTYJEHTHI MOTYT IIPOBOJUTH B OUOIHOTEKE
Axanemun.

6. YdeOHasi uTeparypa u pecypcbl HHGOPMAIMOHHO-TEJIEKOMMYHUKAIIMOHHOI CeTH
"HHTepHeT", BKJIIOYasi IepedyeHb Y4eOHO-MeTOIMYeCKOro odecnedyeHus 1JIs1
CaMOCTOSAITEIbHOM padoThbl 00y4arOIMXCs 10 AUCHMILINHE (MOAYJII0)

OcHoBHas muTeparypa.

e = m o

Happiness : A Revolution in Economics, MIT

Press, 2014. ProQuest Ebook Central,
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c MarepuajibHO-TeXHHYecKasi 6a3a, ”HPOPMAINMOHHbIE TEXHOJIOTHH, IPOTPaMMHOe
o0ecnieyenre U MHGOPMANIMOHHBIE CIPABOYHbIE CHCTEMbI

0

n Jns mnpoBenmeHusi Kypca TpeOyercs Kiacc, OOOPYIOBAaHHBIM JOCKOHM, MapKepamu,

KOMITBIOTEPOM U ITPOCKTOPOM.

N3yyeHne IUCHMILIMHBI TpeOyeT HajJuuue IMEepPCOHAIbHBIX KOMIBIOTEPOB M HHTEPHET-
accoB /ISl TIOMCKAa JIOTIOJHUTENbHOW WH(POpPMAIMU BO BpeMs CaMOCTOSTEIBHONH pabOTHI
CTY/ICHTOB.
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